Tagore International School
Vasant Vihar
Interactive Worksheet-4
Class: 4
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Spot the Error!
Rolly, Polly & Molly were given a statement question by their teacher to solve. Find out who solved it
correctly. Also, mention the mistake/mistakes done by others.

Statement Question: Senior school library has 27,600 books and junior school library has 10,545 books. How many
more books does the senior school library has?

Rolly:
910
2 7644
-1 0545
07158
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Polly:

27600
+10545
38145
Molly:
5910
2180 K
-10545
1.7 055
Subtraction Pyramid
149 420
2800 1840 1140 589 2840 1630 840 180
822
1041
4440 1840 799 398 9833 7813 6942 6398
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